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S 32,000
Al 32,000
02 QB AHANEEX 64,000 96,000 A32,000
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== 32,000
Al 32,000
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= 6,000
Al 14,000
301 EtE N = 20,000 20,000 0
= 6,000
Al 14,000
11 #AIAHIXIZ S 20,000 20,000 0
OX=sg FaI|& A A=2208 &
=k 20,000
== 6,000
Al 14,000
2IIHEL A2 895,900 1,404,200 508,300
= 453,000
s 90,900
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02 35244l 57,000 57,000 0
OsINH SUAME 2¢ 57,000
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01 MHZH| 24,000 24,000
O SUAE 2 24,000
405 KHoHF S| 50,000 100,000 50,000
01 ML ESFSHI 50,000 100,000 /50,000
OsgIIH SUAE =24 50,000
S UAMEL 24 £X 740,000 0 740,000
= 450,000
= 90,000
Al 200,000
401 AIZHIX R0 591,240 0 591,240
= 326,030
= 65,210
Al 200,000
01 Al&H| 583,850 0 583,850
OsgIIH SUHAIEA 24 £X 583,850
= 321,540
< 64,310
Al 198,000
02 Zeltl 5,590 0 5,590
OsgIIH SUHAIEA 24 £X 5,590
= 3,410
S 680
Al 1,500
03 A2 THYI 1,800 0 1,800
OsgIIH SUHAIEA 24 £X 1,800
= 1,080
& 220
Al 500
405 AHatE = 148,760 0 148,760
= 123,970
= 24,790
01 ML ESFSHI 148,760 0 148,760
sSIIH SUAMEL 24 £X 148,760
= 123,970
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